Use only an ordinary pencil.
Make sure that you have written on the answer sheet:- (v) Your Name
(iij Name of your School
For eafih question, show the correct answer by drawing a line in the brackets in which the letter you ye choosen is written.
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In the diagram above, MNPQ is a parallelogram. Angle MQP is 80° and angle MNR is 30°. RN=RP find the measure of angle QPN
A. 100°
B. 30°
3*.30®
D. 50°
6 men can dig a shamba in 4 days. How many r'iCre days are needed if 2 men did not turn up the third day?
"j days
5. ty a ,>ay
". : V, days
C. day
yie-c:;ar:' 3a3ow shews iiow St.EZ'.o shared 3 -sosey he had to his four ehCdrex.
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If Zaweria had 300 more than Maxima, how much money did Moses get?
A. 1 BOO
B. 8000
C. 800
D. 3600
A salesman earned a total of 27500 ia one ..-nonth after the sale of goods worth 150000. if basic salary is 20000, find his percentage commission
A, IS7. %
B. 3?1/, %
£
C. 10% .
D, 5%
A loaded lorry weighed 6.3 tonnes. If it hzd 3 0 bags of sugar each 90kg, determine tfcs nass of an empty lorry?
4.36kg  ' B.360kg _.36 t.
D.3.61
C&i iu tli-3 square root of20s/3 ?’
B. 20V. D. 107,
	Mi
£*
II
	Maths
	Eng
	Eis
	SS
	Scie j

	..Score .
	_ 72 J
	33
	98
	56
	„„Jj}
J


s«
‘ ~ ' j
A pupil in Wairuri primary school scored th?
following marks in KCPE
Vhat was the sum of the mean and median vcore? (Give your answer to the nearest whole ‘."iniber)
B. 59.8
D. 56
B, »/3
D. V,

99
“ ' '35
29. Find the sum of the LCM and GCD of 72, 288 and 360
A. 1440
3. 1512
C.720 '
33 72
30. ApaiJaierogram AJBCD is such that AB is 7cm,
3C is -Am and "ABC is 105u. Construct th^ yaiialegi'am and draw diagonal AC. Measure angle ACD
A. 75°
' S.105°
C.49®
D. 37.5®
31. The scale on a map is 1:15000. A section of a road is represented by 12.5cm on the map. What is the actual length in metres?
* A.0.0-625
B. 625
C.62.5
D. 6.25
32. John is two years older than Paul and three years younger than Ali. The sum of their ages is 64 years. If John’s, age is n nears, which one of the following expressions can be used to find John’s age?
A. 3n+l = 64
B. 3n+5 —-64
C.3n-1 » 64 . D. 3n - 5 => 64
33. A car dealer bought a motor vehicle spares worth sh: 8400. He paid: using only thousand shilling notes. He received the balance rn 5 0 shilling notes. How many notes did he get?
'A.600
B. 30
CM2
33.3 0
3d. A s; right augled triangle., zhz tv, o viicrier ;d --tv sosstn^-dikarrand 20cm. respecd vsiy. What 3; ids. length of the hypotenuse?
A.625 
B. 333
C. 25
D. 32
35. A watch loses 5 seconds for ci-try hour, vC hc watch was set on Thursday y 1 L  0p;n, wC? i time will the watch show-the followrty.' Thursday at 11.10am?


A.11.23am
B. 10.57am
C. 11.23pm
D. 10.57pm
The table below shows distance in kilometres between KLM and N
A. 40cm
C. 10cm
What is the value of : V.
'/ - V x
'2 4

1 i/
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What is the area of the shaded part in the figui below?	|g. -





B. 72cm2 D.92cm2





Gem





A. 30cm2 C.20cm2


What is the value of 3 a2 b - n/c5 a - b + c


if a = 3, b = 2, c = 4 A. 10 C.62/s


An open cylindrical tin has a diameter o: 15.4cm and a height of 30cm. What is the surface area of the tin in cm2. (Take st = 22/.j





3.





B. 5% D. 10*/,





j A.5590.2cm2	B. 1638.34cm2


j C. 1824cm2	D. 1425cm2 g


	9. In the figure below, ABC is a straight line,


	BD=BC and AB is parallel to FD. Fnd the


	value of angle BCD


	” 1





Which of the following .numbers Is eight million nine hundred and eighty nine thousand and ninety eight?


A. §989896	B. 8989898


C. 8989898	D.8989098


What is the place value of digit 2 obtained after the following operation? 48.5 x 5.762 A. hundreds	B. hundredths


C. tenths	D. tens


What is the value of 0.475 x 1.89 x 0.9 0.095 x 0.063 A. 135	B. 0.135


C. 13.5	' D. 1350


An aeroplane left Jpmo Kenyatta airport for Heathrow airpot in London cs a Sunday at 2135hrs and took 8hrs 5 minutes to reach its destination. On what day and time m the 12fcrs clock system did it reach London’s Heathrow airport?


A. Sunday 5.40am B. Monday SAQpnz C. Sunday 5.40pm D. Monday 5.40arn A shopkeeper spent sh. 960 to buy 20 plates and then sold them making a profit of! 2.5%. For how much did the shopkeeper sell each plate?	|


A.Sh. 48	B. Sh. 54	j


C.Sh. 45	D. Sh. 6





16.





A ■?' isiB'rm ui AAA measurasrerxi shown? A. 60cm





;v.





C.48em The f


strands o





IS.


vev%





CbAA: AAA o


SA


AA7S, C A :A' AA;ap At- 2 A A*' ■. A.. -- A.. ■ C. i(r-. -





a:





A4„ A ui "sn --.‘if :


' At «.* yp. Avy ■-■'■.cy.i os’-f.


'.04 i A5'


'	i'aA’	





2b





#





What is the height of pupils who had the


Ab!low:— -v-1 ^3 cm, 111 cm. A57c I SOc.rr


A!68c.;k	B. 165 cm


A A 73 Ac a	D. 171cni


A wo-i	r salary on foo;;. y ai


clothing, SA cr jac remainder os expenses asm saved the rest. Wfeat fraction of his salary did she save?





B. 14 D. 96


■ ■ -t,s maize produced ia 2009 -- certain plot. During the ■■ ■ f; -vas an increase in the ratio .s:!-difference between the • c ■ -ears?


B. 120 bags D. 100 bags





2 3	JT ’ ' M


i 2. The diagram bAow shows MucMri "e plot of land usi-ig the sc.-.... .. .*0000. What is the area of the plot in hectares?





A. :3000hfi	B. 1300ka


AAAOba.	D. 13ba


Ay.y: A tA; sp.y® of the number of vertices and:


ecUysja h'i a closed cuboid?





%cm





a.v,





D.s/„





A. 20





L


At





JU





A.48	B. 4.8


C.0.8	D. 4


Stano bought the following items */, kg of sugar @ sh. 90 per kg


loaves of bread @ sh. 30 per loaf


*/3 litres of milk @ sh. 25 per litre


2 bars of soap @ 140.00


packets o* uaga @ sh. 70.00 b§oArA:> sh. 195.00


A As yAA 'Jiopkeeper five haadreci shillfory :tAA bdid he get? b A t	3. Sis-. 65


D. Sb..-30 ^Ai is ispreseEisfe msisg a scale A. What is the drawing





Ac-; AAowitig


b?A’Ar!Vf%


B-%- D. •/„


a "1 r-tbraic expression


;■■■) -?• bb(12x + 15y';


Ay	E. 2A< t- 5y


A-	D. 22x -r 20>





B. 6cm D. 4.8cm


¥ represents a plot of land. Four were used to fence, it.





D. 36m





How rur »ystyes of wire were used all round? A.loOnv	B. 144m





A. 116


C.60


28. What is the value of


(’/ -4- V x >/) + %





A.”7 C.10/„





320





5 y.





B. 15 cm


D.20cm





3/,





44.





N





4(62 -r ::: A.40


C.240 What is i; !(c2 -• b)


S tj


Given th A. 0 C.5s/„





45.





xature of a frozen mass of ice is- N'hpii was the reading on t





46. Whatisifc





38,





47.





39.





48.





' 24


'..66V.





.49.





following statements is false?


B &





50.





thermo meter ;i>�by 42° C?


A.32".C	B. 24° C


€.42° C .	D. 52° C


Which is toe least number that must be added


iO 67363 to make it divisible by 11?


A.3	B.2


C.4	D. 1


What is the value of 0.8 x 2.05?


A. 1640	B. 1.72


C. 1.720	' D. 1.64


Sugar weighing 2 tonnes was packed into 250g


si jd 500g packets. If there were three thousand


500g packets, how many 25Og packets were


•.hers?


A. 2000	B.2500


C.1500	D.8000


i fHne XY, AB and CD are parallel, which of


H





X


A. k+b = i 80°	B.g+d=180°


C.e+f= 180°	D. h+c = 180°


42. The base area of a cylinder is 1 54cm2. If it holds 1.54 litres of water when full, what is the height


in cm?





after the temperature :x





The temps


_ ? A# ,P '





What is the distance from N to L via M? A.203	B. 113


C.22P	D. 150





90 1 L�
�
123�
�
�
113�
1 50 I�
�






M





13/ _s. 4/_ 3> + 21 5	a	3


A.8V3	B. ln/7S


C.VV29	D. ls/12


What is the square root of the sum of 0.0155


and 0.0169?


A. 0.18	B 0.124 /


C.0M3	D, 0.254


What is the product of the reciprocal of 0.6


and 40?


A.7,4	B. 24


D. 3/,





>3 • '200 A nursery school compound is made up of a


quarter of a circle of radius 28cm, a square of


side 28cm and a right angled triangle of base


28m and height 27m. What is the area of the school compound in m2? (Take n = u/7)


A. 1778m2	B. 2394m2


C. 1750m*	D. 3626m2





a~5, b = a+3 and c = b-4


a. a/i3


D. 4%


value of:





value of 50 + 15





B. 84 D. 124/





B.


D.











